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1. If the number 41328IPF502H7 ia
divisible by 13, then what iz the value
of P7

fa) 3
B &
el [

felt &

Z. What i the remaindsr whag 27000000
disicded oy TP

ial 1
2
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g} 6

d. How meny peits of |x y) can ba choden

from the ==t & 3 & B9 such that

S, H:E, where £ = pv
x
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fdl Three
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#. Coneider the pais of prime numbers

[7 n] between a0 and 100 such that
re—rm =% How many euch pairs wre
tharg?
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5. How many teoms e thers in the

following product?™

Wy + 35 + A HE + by s + By
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b 20
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¥ lfg+b+c=0 then which of the Bllowing
ArE Cobreck?

1 a¥+6%+c¥ = 3ahe
2. a?+b% +e¥ = 2jab-brosog

3 w?+b? +c? = ~3abja+ 4

Beleet the cotrect answer wsing the code
given below,

gl 1 emd 2 only
fB) 2 mand 3 wnly
el 1 and 3 only

)l 1, 2 emd B

_3q+ 24 2q-2
C ez -3q-2

then what is the vaiue of p? - 3pg+ 27

i) 0
&1
o 2

fdl 3
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8. What iz the unit digit in the expansion

of 67347

faj 1
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fol 7

fiff @

10. What iz the value of x, if
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11. Thea sxpraagic

[ = lx? - 9x+ 14
(2% + x+ Th|c? - Bx v 7

aitnplifien to
fa} (x -7
by x -T}
fo} dx- T}

fdt |x+4

12. What should e added to ———
Ix -2x-H
2z -5

e
jx2 - Sx + G[x -4
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1
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1

ity e
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1
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13. Il £+é'|=|':|+!:n and i-.ti:l then

wlat ia '1;- - "":';- Erytyel Lo
o b

bl -1
fer O
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14. If {x - %} s the HOF of 2 +ac+ b and
% rer s o, ther whal la the value of k¥
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15. Congidey the following atatements :

¥}, IMNxia direclly proporbeonal to & ond
u 13 direetly proportional to 2, then

%% - y7) iz directly proportional

to =9,

2 If x is inversely proportional to =
ernd w13 inverachr propoflional to 2,
then (o] 9 inverscly proportionel
to =T

Which of the above statements in/are
cormect?

it 1 only

bk 2 only

fe Bath 1 and 2
fdf Heither 1 nor 2

16. What i tha HOF of 7 - 19x + 30 and
x%¥-8Bx4 5P

fal =+ Dix -3
B l=-Te+ Y
¢ [x+ZdHx -]
{ed} [e- Rix -2

17. What ia
Ax 4 x +.:-|-1 a=1

_ — i —

1-x

Fia] B
el 3
{4

XWVWE-T-MTK/EJA

18. For what integral value of x is

liﬁ w P
T
a-x
fa} 4
i 3
il 2
fr 1

IR M xjx - iz—2[z— 3+ 1= k9, then which

one of the fellowing is s possibls
Exproamon lor K2

fal x? - 3x+1
M =¥ -3x-1
i 2% +3x-1

i 2% -2x-1

What 1
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2). For how meany real values of k is 28, 4z? +12x? - x =3 is divialble by
Bikxr? + 12kx -24x + 16 a parfect aguare

lor every integer x 7 [ {Zx + 1) only
g} Zero o fEx - 1) only
bl One
Both + ) and [2x -
i) Twe ict 2y + 2x-17
idl Four {d] HNeither 2x + 1 for (2x - 1)
e If x.,.l = -;_En’ then what iz x7 __14 26. Which che of the lellowing fractons wilk
“' x have minimum change i its value if 3 is
equal to? edded to both the numerator and the
195 denominater of all the fachones?
& 2
iap 2
w222 :
1&
625 e =
fe 16
fidd @ 4
fed 5
X3, If the equation 4x? —2kx + 3k = 0 has
equal rooty, then what ate the valuee 5
of k? fd} =
fa} 4, 12
b 4, B
7. Lot the average eseore of p class of
fct 0O, 12 boya and girla in an cexamivsthon b p
[0, 8 The ratio of boys and girls in the class

b3 3; 1. Il lbe average score of the boya is

R S s i thie (e R ol e ip + 1. then what 1= the sverage score ol

rootz of the mguation pe® - Ge+ga 0 the glris?

iz &, then what ie (g + g equal o7 e
B

fat W

o 7

isl & fol g ¥

id} 5 idl p
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28. A, Bolm oAt am 7.0 12F Fpm A Y 31, T =it R 20%, 10% W sep

H T = 8: ;15 % W & &) afr 4 e BE (AeeTEa T em ¥ we
41 T T o A rw-hed X, A oA, B e T it
#R O =T = Y = e (o} 0%
fa) S56:09: 69 b 31-6%
it RE%
B 9%:56; 60 i 25%
fc] B%:56;99

32. T T=9EEn W wEEe w6 TE fyfia e m
) S0 A% 56 5 M % fmw frim fFn TR O oW 5%
T T W R fem W, o PR P Ss00

HF W B | TR T
9, 200 m A TR T, 160 m AR TR

el W 10 AT G ar el B I R fa} ¥ 2.000
uA e &7 fi) 1 B0
fej 1600
a0
fa} m/Ss ) ¥ 1200
fel 30 mfa
33, TE GO T I A S gzl %
fel 25 m/m feom wwgfs o (s w0 8 gk o
AT WA AW P72 X EE et
idl 20 mfn b ¢
fal Fo 00
B P EOO0
e et F5,500
1 I 1 i 0o
vz %3 3xa  alm+n 100 i
E. Al o 7R W AT 34, TF T 5 T2 A 600 lon S @1 T R
R P 000 1om S AET 10 HAT § = A
fa) OB o Wl m By
b} o9 faj B0 km/hr
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[0, WL fef 100 ke fhr
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2B. The incomes of A, BEwnd Care in the tats 1. A irewler glven auccessive discounts of

7.9 1% and their expenditures are in 2000, 10% and 5% respectively. What is
the ratio 8: 9: L5 Il A's seving is one- the overall discount?
fourth of his income, then the tabo of
savitigs of A Fand Cis e Bl
B 3160
fal SHE:O0: 50
e 32B%
iy DG 56 60 {1 35%
feh 695699 3d. A sum of money was inveated ai smpls
W) 9569, 36 ntercet at 8 cortain rate for 5 venms,

Hed it been inveeted at a 5% higher
vele, it would heve fetched 500 more.

29. A train 200 w long pesses a platiorm Whet was the princigal amount?

1H m long in L0 aeconds. What is the fod 2,000
gpeed of the tmin?

bl 1800

jaf 40 m/= fof L L0

B 30 s idf 1,200

fc} 25 mya 33. The diffsrepce batweden the compound
interent compodided antually] wid the

) 20 mija simple intercat on o8 ceftadn 3um of

maney at 12% per annum for 2 yeacs
ia ¥ 72. What iz the principal apount?

a0, If
ja) €6.500
1oaj ik IGHEN (COMAIE 90 {phy FeoDg
1x2 2x3 3xe alnt ) 100 fc} ¥ 5500
idl F5.G00

than what 8 the valge of n P
Ad. A tradn veesls S04 kmoin 5 houcs ard the

rexl 0 km in 10 hours. Whet is the

@} 98 aeverage steecl of the wain?®
& 99 fo) B0 Yan/hr
{b) S0 kmjhr
s {100 km/hr
fdl 191 & 120 km/hr
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o 50 e
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iy B0 e fel) 25 TR
36. 100 M T FA-TE, 80 A S ae. i 20 =f5, 2¢ Wi, 20 FA 3 o W AR
% war ¥ @0y &) vl w7 $, @ 16 =%, 16 TR ey B A 616 =
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et 25 A
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A7. X 3 WA YR O i 259 wem d= b
st z ¥t gern § 259 M Z W EWE, Y
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T EE oy ¥ o i o+ =t g
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a%. Walking at %ﬂ'l of hia usuel apesdd, & man 38. In 8 mixture of 80 Ures of o lquid and

ig 12 minutes kake for his cffice. What ia waler, 25% of the mixture is the Hguld.
the waual tinee taken Wy him to cover How much water should be added to
that distance? the mimture ao that the liguid wecomes

204 of the mixtare?
fa] 48 minutes

fal 15 litrea
& S0 rmdeubes

B 20 libea
fo! S5¢ minut=a

fed 24 Liteag
fdl B0 mintea

idi 23 lioce

Jd&. The cost price of 106 mangoes s equwl to
the selling price of 80 mangocs. What ie 9. Il 20 persone can clean 20 foors in
the profil percenimge? 20 days, then in how many deys can
1% pergona clean 18 Noora?

fal 16%
2z d
i 20% fat ayn
hy 24 A
i et i< -
i 25% Oy
{d] 16 days
AT. X sclly hin goods 25% cheaper then I j
apd 25% dearer thar £, How much
percentage i Z'9 goods chesper then ¥ 0. Let the work dome By [x -1} men in
[+ days be g Let the work done
al E% by (x+3) menm in (k-1 days be =
3 Il i z- 9: 10, then what is the value
] I
1 11 =i B
g
& 50% g
e} 1D
200 ,
o)
= 3] (& 2
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41. togy 3125 ok amn 47 48, TR 53 < g}, T x Rk s B2

iat 3-Slegg< 3
) ————
]_JHEII:I£

fat 3-3logyg2 pe 3
1+logs 2

fd) 5-3logy 2

2
42, 15- 4413 = whpr wn #7 & 1iegg2

fal 242 - J7

Bl 23 -247 @ o oge2

fe) 15 -7

i) -2 a8, 3zin? 9 +4coed o =HEN TR T T
43, A ww W e & s (i) W IR Y3

m%tlﬁmfﬁﬂ-ﬁﬁmmt? B 4

fap 12 fc) 3

By 13 i) 2

i} 14

i 47. TR ainfeosd - k& %, W ﬂﬂﬂgg LM
44, o W 7 gwn A, A 5T - | w R b 4 9 F1-m WA R

'q.'-g'[laﬁ ﬁ\:ﬂ;q 7
- 4 e faf O=k=1
fa) T
by FEAD=k s0-5

f&f =/

)5 fel FEAD-S55k 51

fd} A idj 0=k«

XVWE-T-MTE/S0A 16




4. What ie log,,, 3125 cqual w?

faf 3= 3log;, 2
flb_ll -3 = zlﬂg“} x
fcp 5 - Slog, &

rd;l E_BIDEIDE

42. Whet i» the squere root of 15— 4197

b AR S
B35 -2.7
fﬂ'_.l '\-'lﬁ = 'l,ll_':'r

ﬂ' d.l' 1."5 == '\."E

43. The eum ol 1he rciprocals of twe
-
-, What
i

altermate natural numbers is 5
ks the sum of the numbera?
fof 12

fby 13

fc} 14

fdf 16

44, |f 1 in any natural number, then 52 - 4
i3 alwavs divisible by how many natural
numbers?

fal Tre
& Four
ic]  Six

idl Eight
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45, If 5777 = & then what i3 x cqual to?

e} Tﬂsmﬂ
i) 1+|n::;m2
B 1=
i !—Ini]u'l

4&. What 3 b=
AainZ B+ deond B

least value ol

e} 5
fb} 4
fel 3

fefd 2

47, If minfcoat=§, whers 05 EIIEE, then

which one of the following is correct?
fa) ksl

B b5k =05 onldy

i} Ssk <] only

il Okl
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48. Tfe DEHSE E L p-sin?i}+cus4ﬂ -

o Fafats = o Frem fifae .
1op jRTFmRTEm
2, p 18 aEF w e

Tod e & # WA wh A
faj FaR 1
TR o B
fep 1 ¥ 2 =A

il A1 e a2

49, z—zaiﬂr—sinz_r, Dﬁxﬁz, ¥ oE R oW
%1 YRR M T # SEm ¥ A
fr} -3
oy -1
fef 1

fd} 3

s0. T T x? - -ZayminTe- o # &
e, oy % for Al 7= 2, @
fuj x=p
fif == -y
fiy

x =12y

jdf dx =1
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1. ainF<ea5F
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T & A WR-MyA "R R
fa) o 1
fb) FEd 2
fo) 13 2 EEt

jdi AT AT g

52, W p=seed-tand N g = cossch+coth
3 prglp - ) Pk R B

=1
o ©
fod 1

iy 2

53. T copech -coth am ¥, T cowf e
L 5

jap ma
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48, It pesin®B4coah for 0@ 5% than Bl Conslder the Inllowing inequalitiss :

congider the fellowlng statements 1. sminF<ronisf
l. p can be lcas than it_ X cosbE( s ainiT™
2. pc2n be more than 1. Which of the abowe isfarc comrect?
Which of the abowve statements is/are
correct? fat 1 onky
i) 2 onby
fot 1 only
fc} Both 1 and 2
& 2 anly

fdt Meither 1 nor 2
(&) Both 1 and 2

BR. I p=-sacch-tand and g=cowect - coth,

Neither 1 mar 2 .
=) then whet is o+ gl - 1 egual tof

49, What iz the ratic of the greatesm io el
the smellest value of 2 —2ainx — gin s x,
n =] B
Qzx==-7
2
fcr
@l -3 .
fdf 2
=1
[ B3. W coserd—cobtf = mt, Lhan what is copecH
equal ko
i) 3 1
fof m+—
b))
7 EO. If the egquation x? + ¥ -2xyeind B=10
containa real solution for x and g, then ™ m- _1
it
fal a=y
B x=-y B
2 m
foi x=2y
m 1
@ 2x -y Ll T
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s4, TH Hitam AsC ew fem b e o woaEm L

¥, A tam A+ van B P T A 6 + BtEnd = scch W7 & - 6tanf = k secd

fa) — N Al k2 b7
be , 7l ;2 w1 #n ¥
it % faf 31
iy 22
hE
% e e} 77
z fdl 949
=
ab

9. TR W UH WW SEhE fm R A 60° &
T W g 2 ¥ s Mm% e @
x Fr2r 1 gh ot fo v P w EW O A
fircl 7oA Hor swElE (eadx) FEOR TR

BE5. A =i cos® tooaf =2 ale
ging +minf e ¥, FH Oso£GSEE
0<p=s00 ¥ coalZ - cos2fh 1 A =7 7

T 2 o fag 26t v W FEhE wm  E,
i I = =% i At Fn A7
P fol 3 & AR
fd) =roie wiwEl & v Pofim o i
T HEA fo) <3 TR
fo  2x i

5

g5, T ) b=, W Os0<00F R, &
e N 24T x SRR

sin ® & %1 A% T B

rn,rl 60, TH AEOEE SR % FE W THF FTRANM T
'y % FrEem @ S W 60¢ 3 450 % H
o v (EEE) O 2 AR e R R A 2
. w4 R 8 F B AT wE ok, Al cotd
fo 2 Tarmi amm ¥ .
L ot 3
BT. {1+coté —copcli[l + tand + aecd) o
i 2
E ol
G jey Ei
it 3 -
fol 2 TS
fdl 1 e 3
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Bd. Let ABC be a tdangle night anglad at C,
then what is tan A + tan B equal to?

i =
i
el
=

BE. Lel coan +¢caf =2 and sine +sinf = 0,
where D=5 =90, 0= <90°. What is
the value of conZx —copfi 7

faf O
1
fet 2

4] Cemnot be determined ducs to
imsufficient claly

=5, Ifs.ecﬁ+muﬂ=§, whera 0% B 5 O0°, then

what iz the value of sin? @87

fizf
i)

fc/

- Bl Bl e

fel}

BT. What iz {1 +cot® - cosec®|({] + tanB + sec B
equal tod

fal 4
B3
i 2
[/

VIWVE-T-MTE S S0A 31

S8. IF&+ Btand = poch and 9 - Gtan® o & sech,
then what s the value af K37

fat 11
fol 2
o) T

fd) o0

59. A pale oo the ground leans wt 407 with
the vertical At @ point x mets away
from the baae of the pole on the groand,
bwe halves of (he pake aubtend the sames
angle. [f the pele and the point are in
e swme vertical plane, then what is
ibe length of the pake?

it -7 x metre
B 3 x matre
& Zx meirs
il 242 x metre

0. Awverteal tower standmg at the comer of
a tectangular field eubtends angles of
60" wrad 45% ab e ted pearer cotmers,
M E {a the angle that the tower aubienda

at the farthest cormer, then what im
cotl aqual to?

fo

[ &1 jre]

fb} 2

fe)

i

fedt

il &

| BT.0.




61. ™% 7% MR oF andiE TEARE AR A a8, 24 cm FFR (o) @0 R 4T R RN

TR M ¥ e S Ean W, andie 35 e frgemn amm ¥ M0 368 dR O W=
%) Fmn & omaw ok = = b 9B % A = R A 12 cm
fag -t i 16 om §, M A SN = g deen
Bl 2:1 &

fef 3:2 faj 1200 cm?

g 4.3

fb) 1B00 cm®
&3, 60 mm =M T T g e S Rwaem

144 om =arf ¥ ow = o ) B an = fol 2400 em®
kN {d} 3600 cm?
fal 05 em
L 66, T FEWR T (WP 8w, T ami
fe! 15 cm =T 5 oem aln SEd 24 cmﬁ,":l'l:ﬁﬂ"{_ﬂ
{d} 2 cm va g0 21 A [ T W 10 om AWRE
Frva T TF AT 9 # X T am g
53. % A0 (i) % smar B o, T e S A =Y
falbm @ 4k F W owEm 2.3 k) OR
fife. W WA 1617 cm? Y, @ MR fat 1 cm
’ Vg o 22
Tt A% - SEET T A T?-ﬁﬁtﬂ PN
fed 243 {:mi ] 3 cm
fb) ABS cm?
el 462 i & % cm
{df 77D cm?®
57. 22 em A AW WY F TH S@ WO
64, 14 cm T4 TE IEAEN TG K AW A fraoem, 21 em Fof W OUTE AF T
Fiafer g dewe 1 3 44 em™ R T wrn ¥ FE & smm @ frem wm ¥
96 cm? 1 wp A T ¥ AR e H A (n = 22 ohfm)
frrm £ M ke R or ¥ A1 (Ren 7

ﬁmtmtuh%mm}

jgf 1l cm
fa) % cm b 165 cm
fl T-5 cm
P 2 ol 22 cm
idi 45 cm i 275 em

XYW E-T-WTE £ 50A 24




El. A cone and & hemispherds have =qual
bapea and equal volumes, What is the

ratie of the height af the cone to the
radius of the hemlzphers?

Mlefdy —gLadl
L 2L
fie]’, 2
(& 4:32

&2. A solid sphere of dismeber 60 mm is
melted Lz siteich inke a wire of length
144 cm. What is the diemeter of the
wirey
I"'l'-":.iI D'E <m
B 1 o
o 1.7 cm
fdl 2 em

63. The ratic of the radius of base W the
height of a cylind=r iz 2 3. IT Lt Yolume

of the cylinder i3 1617 em? | then what
17 Ehe el purface avea of the

cylinder? (Take ft = ?}

fal 242 om*
(b} 385 om*
fc} 462 cm?
f@l 770 em?

&4, The diffsvence Between the outaide and
the inalde surface area of a cylindrical
pipe 14 con long e <4 cm?. The Ripe ix
mads of 39 cm? of metal If £ ia the
cuter rading and r ia the inner radiue of
the pipe, thern what is (&1 7] equal ta?
[Tak= & =£—;:|

gl 9 cm
(B T3 cm
] & em
) 245 cm

A NWGE-T-MTE F56A

aT.

A metal gobid cube of edge 24 cm s
melted and made inte three small
cubea, II the cdgea of tvo amall cuhes
are 12 cm gl 16 cin, then what ia the
surface area of the third small cube?
fa) 1200 cm?
fB) 1800 cm?
fe) 2400 em?

id}  AE00 e

§56. A ronical veseel whoze intermel mdiue is

S om and heighl 24 £m iz fall of water.
The water 1@ emptied inte g cylindrical
we age] with laternal vadius 10 cm. What
ig the height to which the water rissa?
gl 1 e
B 2 cm
fel 3 o
fdf 4 cm

A metel solid cobe of ede 22 cm s

melted o maloe a cone of height 21 cm.

What is the tedius of the base of the

cone? (Take n= 2—:#

faf 11 cm
i 1563 cm
fep 22 ¢

idt 275 cm

| P T.O.




68. 24 cm 3= TR F UF T TH-TR A TL 3 o 92 o% F92 B 12 mo=E A T m

550 em? b1 g & w0 v o el Jrem &1 TR % AR W Us T ()
maqmmn{n-ﬂ?_ﬂanﬁq} o k) wed & o P ¥
{1=E3ﬁﬁ‘ﬂ{}

o 2 .

12 fa) 21 m
PR (b 28 m

L et 4% m

(& id} 66 m
oy

7 T2, & cm WW R O T w1 b oA orh
(il W YT W A e A ) v o A

e & em %) 70 e T oME ool A ozw

69, 44 oo T MW 23 om W @ AR w1 &, W T w9 e

FITA ¥ 50 F=E = e o e fa} 05 cm

T A A0 (W) S A Y, § TR B 1 em

=hfm 5 7m s ¥ 3l =9 W T it 1'5 cm

¥ 7l e B e o we, falee el 2 e

R, A e ARy ¥ oWy AT

T 47 (n = 22 ofife) 73, 21 cm RN AR OO 99 @t d w e
(EEET) R A R g A & oam w wE

fe) L:1 55 cm ¥, M 5T W ATTHT by

bl 2:1 fat 5775 em®

for 12 fb} 612-5 cm®

fd) %2

foj 7055 om '

d i 2
70. 2 gfem” T4 1 TF 47 B v W@ il

AR = amn amn b 9w s
st e fead = 5 o R 6 cm &

W W BT R fn - 22 g

T4 TF AN 70 e 7N T3 0% 9a & s Ay
oft w v W % SR # g A Y,

7 mmﬁgmaﬁﬁarﬁwn{n-gﬂmn
faf 1144 g fa) 55 ¢
flp 1024 g il 75 cm
fel 840 g fef %5 cm
)l 570 g idt 110 cm

HUWE-T-MTE53A %




6B. A ocone of height 24 cm hes a curved T1l. A cloth of 3 m width js used t¢ make

surface ares 550 cm®, What iz the a conical lent L2 moin diametsr with
rativc of ite radius o slant height? a alanl beight of 7 m. What is the length
[Take m = .2?3] of the cloth? (Take & = i—iﬁ

5 by |
(o | fixf m

12 B 28 m

5 c} 44 m

13 id) BE m
It £, TZ. A aphere of diameter 6 cm iz dropped

23 into a cylindrical vesssl partly flled with

T water. The radius of the vasgasl 11 & &m.

il a7 If the sphere is completely submargsd
in watsr, then by bow mueh wilk the
H surface level of water be ralged™
£9. A rectangular paper iz 44 ocm long and 05
28 e wide. Let ¥ ba tha voluowe of the fal S
largest cylinder lormed by rolling the b 1em
paper along ita length end y be the e 15 em
volume ol Lhe Iargest cylinder formed by
i ; il 2 om
ol the paper along ks width, Wihat
: = 22
ia the ratio of x to 7 [Take = ?} 73, A egector i8 cut fom e circle of radlos
2] cm. I the length of the arc of the
fat 1:1 sccior ia 35 cm, then whet iz the area
af Lthe sectore
b 21
fa} 5775 em?
fof 1:2
: B 6125 em?
3d:
1 i b 7055 em?
™k A hallow spherical shell is made up of fedd 7255 em®
! a mewd of density 3 g fom”. If the ol ;
e P I I Sy and Té A wire g in the lben of a comele af fadige
6 vm mupectively, then what is the maas Tuham:n':f lthem b'!h:'l_ s m:l 'f:m ‘:':
t T L
ﬂlﬂ]:ﬂlﬁt“?ﬂﬂ]itﬂ:gﬁ a rhonm 32,2 I W im ite mide lengih
1144
fa! F 55 Ot
o 1024 g B 75 em
fcf B4O g fcy 93 cm
fdf 5% g @t 110 cm

MVWS-T-MTE /S04 1. | BT.O.




75. R UF WGEER W W e 360 m ¥, 78. = wmiw Fopl % A S (S A

A v G w3 (n = 22 o) wwr b oAn T MR W S
% 4-84: 520 ¥ TR oA tanE W o
@ 3850 m? =n b
& FTO0 m? fa} 11:23
f} 11550 m?2 i 23:25
fd) 15400 m? ] 22:03
76. TF uTEA (M) ABCDE, AB, DO TN fd} 484: 529

¥ femi Ac o 5D, P TR T TR

(e WA B O AP: PC=d:fx -4y .

A Al PO =22 -4 22+ Y, M TARA 79. ABC e fiyg ¥ B Sim 4w} ol

F ¥7 AD BC % waEd ¥ U G0 -8 em WK
DC=12-5 cm ¥, A1 AL Fres = %7

faj 4
fai 75 cm
f) 3
fal 85 cin
3
& 2 = 9 cm
;fd,.l 2z (g 10 cm

T7. KABC, ADEF % wrwa %) 5aBC 3 aDEF 80. ¥ T W TR 4T, TF T P &7

F oiAE W 40 em A 30 om B %mtgz?u:_mﬂm;:t#;;ﬁﬁm ’
|BC + CA) F1 {EF + FE A 219m Peeih Toa s oy b, M 22 o 7 T T
7

fal m:&
i 5:4

o:

b 43 T\ e
f= A-2 e e ia
o g1 3:m

XWES=-T=-MTE S S0A a5




78, 1f the perimeter of 8 pemicinmular park
ja I60 m., then what is its  aree?

Take &t = %]

faf 3850 m?
B} FT00 m
{& 11550 m”

fdl 15400 m?

74. In a Aperium ARCE AR i3 parallel
to (W The diagenals AC and BD
imtergect g1 P, if AP PC =4 ; fdx —4}and
EF: PD = fix - §:{2x+4, then what w

the vwlue of x ¢

fg 4
o} 3

i=

BJ | L

il 2

TT. AAGC im sunilar to ADER, The perimeiers
of AARC Bnd ADRF are 40 crn and
30 ¢ reapactively, What is the ratio of
[BC+ CA) to (EF + FI equal to?
fal 5.4
w43
fof 32

fdy 2:1

XVWEB-T-MTK/S0A

8. Two isosccksa  triangles  have rgual

vertical angles and their areas ATe it L=
Elio 4-24: 5.29. What i3 the ratio of
thelr comesponding heighta?

e 11:23
fh} 2225
) 2%:23

jd) 484; 529

6. AECiE 8 trinngle right angled at A and AD

iz perpendicular to BC M BO =B cm
pnd DT -12.5 era, then what iz AD
equal wor

jot 5 em

) B3 cm

jct 2 g

i) 10 em

483, The zuriace ara of 8 cube is cqual ¢

that of a sphers. If x is the velume of the
cube and Y i& the volumne af the apheare,
then what iz x%:y* equal to?

ji] w: 6
) &:n
jol n:- 3

fd) 3:m

| P.T.0.




Bl oF AFEM g A At xojx- 1 x-d

=1 ix - 16 84, TH Ry

. AR e anc i

g7 B ) g | w4 ﬂacmqmﬂm%ﬁ?mﬁﬁmﬁ;:
EERIWr:Ttegiz o B T,

faj 22 ¥

b 42 T el

f) 56 T B

. T [t B =
) S0t

82, ABC 1% Thiw §, T Fw B g 21 TR
AR br 4R N, AS T 0 TR @ R Y 85. TF g ABC | P 3 om, & cm 3l

T AM = M = KB ¥ 7R Fifim P ol

2

ACTE TR R AT S oe on ks ;nﬂ%tmimﬁgﬂh Hiti
Emlgﬁfﬂt{}!;;ﬂatm#lﬁ gﬁﬁrmﬁw&iﬂﬂmhﬁgg
. . A \PM + N Tk R Fmst = AR T &Y

faj 10 gm R

B 11 em s

{5l 12 cm RN

fa]l 13 cm ! Eym

83. AR WR CDwF 77 % =m & o wEgmt w o B6. WW T PAS TF A W T dE @ b W

R ¥t AC, OB B AN DA W TAH 4 3t 5 W FEh
; t w9 difae
& A zran - G X, 1 2BRD RoE oy s (33 ) 31 AR PA= ¢ om .
L &7 A PT w12 em ¥, 71 A0 TFEF WG X7
g 30° fat 5 cm
fbl &0 B & em
fob 9o il 7 cm
i |

XVWS-T-MTK/50A 28




El. The aiden ol a right-angled frigngle are in

the rate & jx - U-jx - 18 What i the
perimeter of the triangle?

fa) 28 unila
firl 432 unile
fed SE units

it A4 unbia

B2. APC ia & trengle tight angled at B Lst

M and N be two pointe on AH esuch that
AM= MM = NB Let F gnd @ e two
pointa on AC such that FM ia parmsllc]
e QN and O is pardle] te CG I
Al =12 cm, then what i@ @AW+ 02Y)
equel to?

fat 10 cm
M 11 em
el 12 cm

fid] 13 em

B3 AL andg D are the diametera of &8 cincle

which intersect at P Join AC OB 8D
ebd OA4 I LPAD= &0°, then what i
£ZBPD equal to?

(! 30"
i 60"
el BoR

i 1200

VW S=T=MTEf A

Bd. An cquilstersl triengls ABPC and a scalens

triangle DAC g inscrlbed in & cirche on
same side of the anc. What s 2804
equel to?

fa) 300

(L) 45"

jcf  &0°

{dj S0

BE. The aides of 8 trinngle ABC are 4 cm,

& om and 8 ocm. With the vertices ol
the triamgke as centres, three cucles
are drwn #ach touching the other
externally. Whet s the sum of tne radii
of the thres circlea?

@l & cm
il 7 cm
fc; % cm

i} 10 &m

B Let PAR be m secamt to & wicele

intereecting the crcle ol 4 and B Leg PT
Le the tangent ssgrment. T Pd =9 cm
end FT=12 cm, then what iz AD
equal to?

fa} % ocen
B 6B rcm
fct 7 cm

[dl 9 cm

[ T.Q.




87. i = T g an iy 30 cm ¥ e 39, ABCD E THo (dfiEm) & fem A, Do

THH T 13 em ¥, A Fn@ W fEem w = FEiM B I 2AE = 200 R fem Ao ot
L Fi BD, O TER 5% ¥ ad0E % s w
ADOC F BEw 8 3T T OET
iat 24 cm?
fed 2:1
B 27 em?
b 22
i) 30 cm?
(=LA |
il 36 em?
{2 94

88. ARC TR gk, Femw Fv caeRm oI
Hifm a8 7 oA wfem g om wa H o 90. T% TR T T AScD o gl W

rhat po-6om R CcA=8 em % W =Y A ¥ TR AB=0 em, BC=A cm

o T A AT e Cp - 12 cm ¥, A 04 TR AT B

izl 54 cm ol 14 cm |
B 5 om i 13 em |
fe! 43 em ic) 12 em

(&l 42 cm idf 11 cm

KWE-T-MTE 50A 30




8T. If the perimeter of a night-angled triangle
ia 30 em and the hypetenuse ia 13 cm,
then whit is the arca of the triengle?

fal 24 em=

fi) 27 em*

&) 30 cm#

fdf 36 om=<

BE. ABC 1% a wangle rght angled at & Let
P be the length of fhe perpendicular
drawsn lrgan £ on A 1N BC = 6 ¢ and
CA = & cin, then what is the value of p?

faf 54 cm

fof 3 em

fel 4B cm

{4 42 em

MW S=T=0TK F0A al

B0, ARCD i= s tnperum in which AR i

peralle|

b DM oand AR =30 The

diaganals AC and ED ntersect al O
What iz the ratic of the area of AA05E

bt that of ADOCY

fat

)

icl

fa

sl

T A

gl

O

Gk, A circke touchea all the four sides of
a quadrnlateral ASCD. II AB=9 om,
BC=8Bcm end CfO =12 cm, then whet

ia 04 =aqual to?

fca}

i

ot

it

14 cm

13 om

12 cm

11 em

| P.T.0,




#1. EA % FEEA (OrE A) & el & Rkl o3, Freafafm st < i ofifem ) b

A 0 e R -
e 2,3,-1,2 6,8 9
o 215 | T 2016
| %A 35 38 daks
g 45 47 4
mec | 88 93 | v
T [y i | [ |
mE 58 | sos | i o
frm W & ¥ W TR 2015 ) gEn 3 idt 5
2016 A 5% arar won Wi s 9
ja) B 3e E
i ¥ A, Cale D 04, W TR WD A W W ama (ke
e ACcDIE ) w8
idi ¥ A DHARE
) &5
92. Fatafm ool 20 ==t $r v ol #
G} BTE 3 S a6 e o b 55
’ 5F T #F v e 102
1-10 | g i
1 dr 112
11-20 g | e
2 1-30 10 )
=l = 95. 5 3 g A fem m apR 21, 27, 19, 26,
1150 14 32 ¥ W F wEE T ¥ o0 8 5 A o '
5164 17 (i ) afw s Bn oa@ § e ok
B1=74 12 ity =7 =7 e o= = .
71-80 T RIS
26
Ty ofirm o 3 soo ™ T ¥ e Tm =)
fm ¥ fbp 30
e 30%
b Al ol 3t
fol  A5%
[} 505 il a2

XOWE-T-MTK f80A a2




91. Conszidar the following data with regard 93. What iz the median of the fallowing dalay
o producticn of ¢are |in lakhs] :

N Yenr 2615 Yeqr 2016 -r 2 =1 DG
_Country A A3 | 3B
Country B 45 47
= i 121
Country C &8 93
Country D it | T
Country E| 58 | 609 | BN
In which of the ecountres, the fo) 4
prociuclion of cars hae increaeed by
more than orf egual te 5% in 2016
" oyer 20157 dr o
fa} Fand E
. W} A Cwnnd B only 94, What iz the arithmats: mean of the first

fenn compodite numbers?
fct A, C L[ramd E

fdl A, Dand E anby @l B3
82, The lpllowing fable shows the macka of Bl 8-5
Of studsnts in & lewl of B0 marks ;
| Morks | Number of students frd 1002
1-10 L
11=20 ) el 1142
21-30 | 10
5140 | 4ot =1
4 1-50 | 18 9%. The marks obtained by 5 astudendls are
' T 17 21, 27, 10, 26, 32. Latar on 5 geace
&G1=-T0 12 mearka are added to cach student. What
T1-B0 I - arc the sverage marka of the revized
& R L e R, Ty L TR marks of the atudenka?

The percentage of students who bQavre
obtainegd Tess than or egual to S0%

26

marks in foy

fol  30% fiy) M
A40%

.II: 453 oy

fdt G005 ey 32

XVWE-T-MTK/ B0A ad e S




06, WR Tt m 30 = A p kA o e

FrEm

FAEH gk, w p g TE o+ ) A
1 HWEE A ¢ &, A et 4 8 e
A

fa} csp

i ezg

fof pPEc=dq

i} gz p

W w4 ™ R fm feh o B gl
wedl-FaeiiA iR % Fim ey (L I, 01, Y, W
¥ =y 1 frafafim byt (el ) o R b

74 I Il ()1} v v
2000 | )60 | BO | VO | 90 75
A | 200 | 1S0 | BS | 16D | 100
2002 | 135 | 35 | 44 95 | as
003 | 240 | 95 120 | 30 | 120
2000 | 180 | 1o | 85 | 95 | 115
2005 | 210 | 150 | 100 | 92 [ 110

g7, T 0002005 H 2ah T R o . A

FH THGA B b
fed TR AT
fb) TER I
fe) IO IV

id) TRV

KVWS-T-MTH/BiA

os. Fr=fufm 79 % 7o i | frd 39 Tl
Wil (daER) R e § AW AgEm ke

[ [2HYE, 2005
fal (2001, 2005)
fo) [2003, 2004}

gl [200H, 2002)

99, 2001 F Fo 4 2004 A TA TR F = Hi
yfaaT #2001 #1 T A 2000 # Fa
Fwes B FH F AieEm B g X

1
fal 3

flad

o | -

—

i

fef

L=

100, fFn =8 ™87 1 | ==, T3 17 @ IEn e i
¥ T TR @ AR 37

fab 2001
(B} 2002
fe) 2003

4] 206M

4




86. Let p be the mean of m obacrvatlons and

i b2 the mean of 7 obacrvatung, where
FP=q IF the combined mean of [m + R
obecrvationiy ia o then which one of th=
Tullowing is cormect?

] cxp
(B cag
fot pscag

id) gscsp

Dlhsciions -

For the next

four {4 items, comsider

the follewing data with ergard to different types
[, I 1, T, ¥) of multivitamin mablets produced

in & company [in lakhs) ;

Year | | I T [T
(2000 | teg | 30 | 70 | oo | 75
2001 | 200 | 150 | 85 | 160 | 100
2002 | 135 | 35 | 44 | 85 | ss
2003 | 240 | 85 | 120 | a0 | 1z0
2004 | 180 | 110 | 85 | 95 | 115 |
1 2005 | 210 | 1s0 | 1p0 | o2 110

97. Which product is produced lenat over the

yeara 2000-2005

fa) Type U
i) Type 1
fd  Type IV

il Typ= WV

XVWE-T=-MTH/50A

L1

98. In which one of the following pairs of

Years, the diference in (otal number
of lablets produced between them in
LI

fa) (2003, 2005

faf (2001, 2005]

fop (20403, 2004)

i) (2000, T002)

99, The rath> of percentage drop in total

production o 2004 compared to 2001
10 rthat in 2008 compared to 2007, is

1
-I’ﬂ.i'a

fb)

{c!

bd |

e}

th |

108, In which year, the production of Type 1 is

more than the sum of the prodaction of
Type Il end Type [V?

fa} 2001
i) 2002
fef 2003

2004

[ P10
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10.

TEST BOOKLET
ELEMENTARY MATHEMATICS

Time Allawsd : Toa Hours Maximun Marks ; 1040

INSTRUCTIONS

IMMELHATELY AFTER THE COMMENCEMENT {3F THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OF TORN OR MISSING PAGES
OF ITEMS, ETC. IF 53, GET IT REFLACED BY A COMPLETE TEST BOOKLET.

. Plomec tobe that ie ls the candidats’s u:gnnﬂhllltr ko wnoode wid Al in the Roll Numbar

and Tent Booklet Ssrles A, B, Cor D and without any omlasion GF ﬂ.'llc::ﬁu.nq at
the appropriats placos ia ths OME Answor st. Aty omission/discrepancy randsy
the Anywer Shest lable for rejectlon.

You have to entet your Roll Humber on the Teat Bocklet in
the Eox provided alongside. DD NOT writs anything else on
the Test Bogklet,

This Teat Booklet conteans 100 itams |questiona]. Fach item is printed both in Hindl and
Euglish. Egch item comprisea four responscs [anewersh, You will selact the responsc which you
want to mark ah the Answer Sheet, o case yold faz] that thers in more than otd COITOCL TEGEanas,
mark the response which you consider the beat. In any cuse, chooss ONLY ONE responas for 2ach
1tem.

_ You have to tark all your rosponees CNLY on \he saparate Angwer Sheer provided.

See directivns i the Anewer Sheet.
ATl items carry equal marks.

Heinre wan procedd to mark ip the Answer Shesl the responas to Various iboms lon the Teat
Booklet, you have te fill in some particilara in the Answer Sheast A8 per inatroctinns sent to o
with your Admissiem Certificate.

. After you have complated filling in all your reaponscs on the Angwer Chert atvd e cXaminanon

hes concinded, vou should hand over to the Tnvigilates only the Arnsprer Sheel You are permilted
to take away with you the Test Booklet.

_ Sheeta Ior rough work are appendad in the Test Bowklet at the end.

Penalty for wrong Answors -
THERE WILL HFE PENALTY ROR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAFERS.

lij There are four alternatives for the ARswer to svery guéstion. For each question for which a
wrang anawer haa boen Elw:n by the cendidate, one-third of the tmarks asaighed to thal
guestion will be deducted aa penalty.

(i} If a candidate gives mor: thap one answer, it will b freated as & wrong wuswar cven 1 one of
the glven answera happens to be corvect and thets will b game penalty Be above o that
QUL EAtio.

{iip [ & gquestion is lofit blank, ., no answes ia given try the candklate, there will b= po peoally
ot thean questiar.
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